Sitthink 69

Sittbank

8 sittbrador (varav 2 till ryggbrada)
2 kroklistbrédor

Beroende pé& ldngd:

2-4 konsoler

Skruv M6 x 60, 12 st per konsol
Mutter M6, 12 st per konsol
Skruv M6 x 30, 8 st per konsol

Verktyg som behdvs fér montering:

insexnyckel (strlk kan variera), ringnyckel (strlk 10)

Monteringsanvisning:

Anvénd bifogad beslag fér att fixera bradorna i
konsolerna. Langre skruv och mutter fill sittbrador och
kortare till ryggbrador.

Bench 69

Bench
8 sit boards (of which 2 for the backboard)

2 hook strips

Depending on lengths:
2-4 brackets
Skruv M6 x 60, 12 screws per bracket

Screw-nut M6, 12 screws per bracket

Screw M6 x 30, 8 screws per bracket

Tools required for assembly:

Allen key (size may vary), ring spanner (size 10)

Essem +46(0) 371194 10

info@essem.se

DeSign www.essem.se

Assembly instructions

Use enclosed fittings to fix the sit boards with the brackets.
Longer screw and screw-nut for seat boards and shorter for

back boards.

VA R




